OnpedernieHue ckopocmeu u
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[pume

[1na 3agaHHOro non&keHna mexaHnama
HaAUTU
CKOPOCTU N YCKOPEHUA ToHeK B un C.

OA=10cm, AB=60cM AC=20cwm
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(DAB:Q: Vi == = ; =0,29¢""
PA  ABcos30° 60cos30




(DAB=Q: Vi == = - =0,29¢""
PA  ABcos30° 60cos30

Vey=w,, -BP=0, . ABsin30" =8,7cm/ ¢

VC:(DAB‘CP:

—© ., -VBC? + BP* —2BC-BPcos30° =36,lcu/ ¢






OripeoderieHue ycKopeHuUU mo4ek

YCcKOpEeHNE TOYKN
A:
a® =g, -0A=20cm/c*

a’ =g, - OA=22.5cm/c”

a, = \/(aff )2 + (a;)f )2 =30,lcm/ c?







YcKopeHne ToYKHU

B: N W W, W,
dg=a,+dan, +ag, (1)

al, =w’, - AB=5,05cm/c’
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[1lpoeunpyem ypaBHeHKe (1) Ha OCb
X.

agc0s30” = a%, +a cos30° —a® cos60’

oc oc 0 8p 0
_apy+ay cos30” —ap cos6(

aAp =
0
cos 30

= 16,76]\/1/62



[1lpoeunpyem ypaBHeHKe (1) Ha OCb
y:

0 _ 6p 6p 0 oc 0
a,cos60” =—ay,, +a, cos30” +a, cos60

a? =—a, cos60’ +a” cos30° +a’ cos60’ =20,2¢cm/ ¢’
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gy =0 =034c”



YcKopeHue To4YKu

% X oK X
_ 8p oc
dec =0ay  Tdcy T Aoy

a? =¢,,-AC=68cm/c’

a’, =w’,-AC=1Tcm/c’



__oc oc 0 8p 0 2
ac, = a0 +ay cos30” —a’y cos60” =112cm/c

_ 8p oc 0 8p 0 2
a., =—a,.+a, cos60” +a’y cos30” =21,5cm/c

Y

2 | 2 2
ac = \/aCx +ac, =245cm/c
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